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SECTION A

SECTION A 

Multiple Choice Questions (25 marks)

Suggested time: 30 minutes

Attempt all questions in this section.  Choose the alternative which correctly answers the question or completes the statement.  Record your answers on the separate Multiple Choice Answer Sheet using a 2B, B or HB pencil.  Read the instructions on this sheet with care.

Each question is worth one mark.

________________________________________________________________________________

1.
Which of the following is a central issue in macroeconomics? 

a) The deregulation of the banking industry. 

b) Inflation of prescription drug prices.

c) The rate of change of real GDP.

d) The effect of excise taxes on consumers' buying patterns.

Question 2 refers to the following diagram.
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2.
Full employment would be the normal condition 

a)  in the Keynesian AS-curve case.

b)  in the classical AS-curve case.

c)  if wages and prices are assumed to be perfectly flexible. 

d)  in all of the above cases.

3.
The Keynesian AS-curve (45 degree line) implies that 

a) the economy is always at the full-employment level of output.

b) the AS-curve is completely vertical.

c) wages and prices are completely flexible. 

d) a change in spending will affect GDP but not the price level.

4.
 If a nation had a population of 100 million, with 20 million classified as not in the

labour force, 40 million classified as employed, and 10 million classified as unemployed,



the unemployment rate would be

a) 10%.

b) 20%.


c)
25%.

d)
40%

Question 5 refers to the following diagram.
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5.
 Which one of the following is most likely to cause the economy to move from point A to 

  point B?


a)
 An increase in interest rates.


b)
 Decreased government spending.


c)
 An increase  in consumer spending.

d)
 A rise  in personal income taxes.

6.
In the Keynesian model, if the MPC were 0.6, an independent decline in investment of $20bn would cause income to

a)  decline by $20 bn.

b)  decline by $40bn.

c)  decline by $50 bn.

d) rise by $20 bn.

7.
Which of the following is a possible cause of imported inflation?

a) An appreciation of the exchange rate.

b) A depreciation of the exchange rate.

c) The removal of tariffs on imported goods.

d) An international recession.

8.
During the 1990’s Australia’s

a) headline inflation rate equalled the underlying rate.

b) inflation rate remained below 2%.

c) inflation rate consistently exceeded the target rate.

d) inflation rate has been less than the OECD average.

Question 9 refers to the following table which shows the production possibilities for two countries and two products.
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	8
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	1

	12
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	8
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9.
According to the law of comparative advantage 

a) Senegal should export barley to France at a price in excess of 1 unit of wheat for 2/3 units of barley.

b) Senegal should export barley to France at a price in excess of 1 unit of wheat for 1/2 unit of barley.

c) France should export both barley and wheat to Senegal because it is the more efficient producer of both products.

d) France should specialise in barley production and Senegal in wheat production. 

10.
Which of the following is a non-economic argument for protection?

a) The infant industry argument.

b) The anti dumping argument.

c) The current account deficit argument.

d) The self- sufficiency argument. 

11.
What is the main implication of a deterioration in the terms of trade?

a) Appreciation of the exchange rate.

b) The current account deficit must increase.

c) National economic welfare is diminished.

d) More imports can only be purchased if exports increase.

12.
Which of the following is included in Australia’s net foreign liabilities?

a) Net foreign equity and net foreign debt.

b) Net income and net services.

c) The current account deficit.

d) The foreign debt plus the public sector debt.

13.
Which of the following currencies have the highest weightings in the Trade Weighted Index?

a) The US dollar, Japanese yen and the New Zealand dollar.

b) The Japanese yen, European euro and the US dollar.

c) The British pound, US dollar and the Japanese yen.

d) The Korean won, Indonesian rupiah and the Thai baht.

14.
 During the Asian economic crisis of 1997 the Australian dollar, along with other regional currencies, experienced significant depreciation and the RBA came under some pressure to take action to halt the decline.  The RBA was prepared to allow the depreciation in the belief that

a) action to reduce the decline would be politically unpopular.

b) it is unable to influence the exchange rate.

c) depreciation would encourage exports and discourage imports.

d) it did not have adequate currency reserves to halt the decline.

15.
Australia persistently records a deficit on the current account of the balance of payments. This deficit is financed through 

a) federal government borrowing from the public and from  abroad.

b) export earnings.

c) portfolio investment.

d) a surplus on the capital and financial account.

16.
Direct foreign investment into Australia refers to

a) the purchase of shares in Australian companies by overseas residents.

b) loans from overseas residents to Australian residents.

c) that investment which gives the foreign investor some control over the asset.

d) loans from foreign residents directly to the government.

17.
 If the government cuts income tax rates it should expect that 

a) the AD-curve will shift to the right.

b) there will be a shift to the left of the long-run AS-curve.

c) the price level is likely to increase. 

d) all of the above.

18.
Government transfer payments usually 

a) rise during recoveries and fall during recessions. 

b) fall during recoveries and rise during recessions. 

c) rise during recoveries and recessions. 

d) fall during recoveries and recessions. 

19.
 Fiscal and monetary policy affect macroeconomic performance by 

a) creating budget deficits. 

b) creating budget surpluses. 

c) changing aggregate supply. 

d) changing aggregate demand. 

20.
 Which of the following policies would increase private saving? 

a)  Raising marginal tax rates. 

b)  Cutting marginal tax rates. 

c)  Increasing inflation rates. 

d)  Lowering nominal interest rates. 

21.
Which of the following is NOT an example of countercyclical fiscal policy?

a) A tax cut during a recession.

b) A tax increase during a time of inflation.

c) An increase in government spending at full employment.

d) A decrease in government spending during a period of inflation.

22.
Microeconomic policies can lead to economic growth because they

a) increase aggregate supply.

b) close the inflationary gap.

c) close the deflationary gap.

d) increase aggregate demand.

23.
A reduction in income tax rates affects the

a) cyclical component of the budget outcome.

b) structural component of the budget outcome.

c) non-discretionary component of the budget outcome.

d) government expenditure component of the budget outcome.

24.
An increase in interest rates will tend to 

a) lower inflation but raise asset prices.

b) raise inflation but reduce asset prices.

c) increase both inflation and asset prices.

d) decrease both inflation and asset prices.

25.
Monetary policy has a long impact lag because 

a) expenditure may be interest inelastic in some circumstances.

b) it takes time to assemble the economic data on which to make a decision.

c) investment is little influenced by interest rates.

d) the decision making process is protracted.

SECTION B

Data Interpretation  (30 marks)

Suggested time: 60 minutes
Answer ALL THREE (3) questions. Each question is worth 10 marks.

Write your answers in the spaces provided under each part of the question.

QUESTION 26  INTERNATIONAL INFLATION RATES

(a)
(i)
Which nation experienced the lowest average rate of inflation over the entire period?



Germany


(ii)
Which nation experienced the greatest range in its inflation rate over the period?



Japan








(2 marks)

(b)
Compare Australia’s inflation performance to the other nations in the table.

(3 marks)

All four nations, including Australia, experienced sharp rises in inflation during the 1970’s followed by declines in the rate through to August 1998. In the 1960’s, 1970’s and 1980’s Australia’s inflation rate was higher than these major trading partners. Australia experienced sharper declines in inflation than both USA and the UK emerging as a low inflation nation by the 1990’s. In 1998 only Japan, a nation in recession ,had a lower inflation rate than Australia.

(c)
Discuss the possible impacts on the Australian economy of the trends in international inflation shown in the table.


(5 marks)

The reduction in Australia’s inflation rate, relative to other nations, would improve our international competitiveness. As prices of imports from the USA and UK rise at a faster rate than those produced in Australia, import competing industries would be able to capture a greater share of the domestic market. Similarly Australian products exported to these nations would enjoy a price advantage over American and British produced products. Low inflation, relative to our trading nations, should boost exports and reduce imports, creating a net injection into the economy and stimulating output, employment and income. 

Low inflation means that policy makers have greater flexibility in implementing policy. Strong economic growth can be sustained for longer periods, creating greater stability, higher living standards and enabling a reduction in structural unemployment.

If Australia’s inflation rate is lower than other nations who also export to Japan, USA and UK then our exports will  enjoy a competitive advantage over these nations and win a greater share of these important markets.

Lower internationally inflation , especially when not associated with recession  (as is the case in Australia, USA and UK) should boost the efficiency of all the nations affected permitting a greater overall level of international  trade . As a low inflation nation in this scenario Australia  should be benefits in terms of higher real income and living standards in Australia. 

QUESTION 27  THE NET SERVICES COMPONENT of the BALANCE of  

   PAYMENTS

(a)


(i)
Calculate net services for the last year in the table.



$555 m



(ii)
Give one example of a service credit and one example of a service debit in Australia’s balance of payments.        Service credit foreign tourists or overseas students  service debits Australian tourists abroad or use of foreign transport. (several possibilities)


             (2 marks)

(b)
Describe the trends shown in the services sector of Australia’s balance of payments



 (3 marks)

Net services changed from a deficit of $3.5bn in 1990-91 to a small surplus of $555m a decade later in 2000-1.  The turnaround has not been consistent, with the first surplus achieved in 1996-97 then a return to deficits until 2000-1. Both debits and credits increased over the period with the increase in credits the most significant, increasing over 100% over the decade. 
(c) Outline the effects on Australia’s balance of payments of the trends shown in the table and suggest two possible reasons for the change.





(5 marks)

The significant growth in service exports has largely been attributable to the expansion of tourism and education to meet the demands of the overseas market. A stable political climate, low dollar and active marketing of Australian educational institutions abroad, particularly in SE Asia, has attracted very large numbers of overseas students whose expenditure in Australia is classified as service exports. For similar reasons Australia has emerged as a popular destination for tourists especially from the newly industrialised nations of SE Asia.

The positive results on net services would  reduce the overall deficit on current account. Net services plus the trade balance comprises the balance on goods and services; a volatile component of the balance of payments. A sustained improvement in the BOGS is necessary for a reduction in the CAD and the rate of growth of the foreign debt. 

An expansion of the services sector of the economy is seen as desirable as Australia integrates more fully into the world economy. Economic growth creates larger incomes and increased demand for services.  The improved services outcome is indicative of successful structural change in Australia and of reduced reliance on the export of rural goods and simply transformed manufactures. 

QUESTION 28

TIME LAGS and MONETARY POLICY

a)
(i)
Which type of loan has, on average, the longest lag between changes in the cash rate 

and changes in the rate charged by the banks?
 Home loans.       (1 mark)


(ii)
Are banks faster to follow cash rate decreases or cash rate increases?










Increases.

(1 mark)

b)
Compare monetary policy lags in the early 1990s to those in 1996/97.

(3 marks)

Monetary policy lags refer to the delay between an alteration in the cash rate  and a change in economic activity. One reason for the lag is that banks do not immediately ‘pass on’ such changes to their borrowers. Banks were slower to alter their lending rates in response to changes in the cash rate  in 1996/97 than they were in the early 1990’s. This would probably have lengthened the implementation lag of monetary policy in the late 1990’s. 

c)
Discuss changes to the effectiveness of monetary policy between the early 1990s and 1996/97. 









(5 marks)

The table suggests that the implementation lag of monetary policy increased between 1990-97 due to the reluctance of banks to pass on interest rate reductions in a time of expansionary monetary policy. This would, ceterus paribus, reduce the effectiveness of monetary policy in bringing about desired changes in expenditure and therefore the level of economic activity.

The effectiveness of monetary policy is also influenced by the speed and strength of the response of consumers and firms to interest rate changes. Given high levels of household debt the response to interest rate rises is likely to be very rapid as households adjust their expenditure to account for higher servicing costs.  Much new investment expenditure is in the form of information technology which has a shorter planning time than other heavy industry type investment so investment plans may also be more responsive to interest changes when they do filter through from the banks.

The RBA has become a more independent (from government influence) body over the course of the 1990s. Its inflationary targeting has led to a high level of confidence in the bank’s ability to control inflation. This expectations effect has strengthened the effectiveness of monetary policy. Fiscal consolidation over the decade has also created an environment where monetary policy can operate more effectively. 
SECTION C 

Essays and Extended Answers (45 marks)

Suggested time: 90 minutes

Answer any THREE (3) questions. Each question is worth 15 marks.

Write your answers on lined paper. Number your responses clearly.

________________________________________________________________________________
29.
(a)
The First Home Buyer’s Scheme granted up to $ 14 000 to first home buyers who 

built a new house.  Demonstrate and explain how this scheme may have affected 

economic conditions in Australia. 




           (10 marks)

· This is fundamentally a question on the operation of the multiplier. 

· Students should indicate that the grant increased autonomous spending and caused a more than proportionate (depending on the size of k) boost to output, income and employment. This explanation should be accompanied by a well-labelled diagram that is referred to in the writing.  Students should receive quite a high mark for a good theoretical account of the multiplier.







           
        (6-7 marks)

· Reserve full marks for those students who actually apply their theory to this real world example.  For the additional marks they could indicate that this is an example of a government spending multiplier, that since recipients had to spend the money on building a house there was no savings leakage and that the housing industry has large multiplier impacts because of the follow-on spending such as curtains, floor coverings, etc.  The resultant increase in demand for housing has driven up housing prices and made some contribution to inflation.






        (3-4 marks)
(b)
Compare the magnitude of this effect to the impact of a similar sized tax cut.








(5 marks)

· This question tests students' knowledge of the differing multiplier effects of expenditure and tax cuts.  Award a mark to those who recognise this and state the FHBS will have a greater impact than a similarly expensive tax cut.




        (1-2 marks)

· Students should show understanding of the determinants of the size of the multiplier by explaining that while some of the tax cut may be saved all of the FHBG money is spent giving rise to a larger multiplier.  They should refer to the formula in their answer.












        (3-4 marks)

________________________________________________________________________________
30.
Discuss the nature, determinants and impact, of economic growth on the Australian economy over the last decade.





          (15 marks)

· Students should tackle all three parts of the question and focus on Australia in the 1990’s.

· Definition/ some indication of measurement/ target rate in Australia and extent of achievement of that target. Australia’s strong growth performance in the face of international uncertainty should be mentioned.

· Demand side influences include the low level of interest rates, the govt budget outcome, overseas economic activity and demand for exports and the state of business and consumer confidence.  First home buyer scheme could be mentioned as could the boost given by the Olympics.

· Improved trade performance from a more diversified export base (services/technology) 

· Diagram to show demand induced growth.

· Supply side influences impact on productive capacity . 

· Successful MER has generated growth in Australia by helping to create a low inflation environment that encourages investment in productive capacity and increase international competitiveness.

________________________________________________________________________________
31. 
 (a)
Distinguish between the current account deficit and the net external debt and explain 

how they are related. 







(7 marks)

· Clear definitions of both CAD and net external debt.  The deficit must be defined, not just the current account. 

· The link between CAD and the resultant capital and financial account surplus explained. 

· Some (not all) of the C&F surplus is in the form of borrowing ( foreign debt.

· Interest on debt recorded as a debit in income section of the current account. Some indication of the magnitude of the net income deficit.

· The self-perpetuating nature of the issue should be indicated.


(b)
Discuss the economic implications of Australia’s net external debt.

(8 marks)

· Should begin with definitions (gross debt, net debt) and some mention of the size of the debt.

· Penalise students who have clearly confused the foreign debt with the public debt or who attribute the whole of the foreign debt to the govt.

· Students should indicate that they understand that external debt is not per se a problem.

· External debt can be a problem: 

· The debt servicing ratio / increases vulnerability to changes in world economic activity eg a rise in interest rates or a decline in demand for our exports.  (Export earnings are volatile in Australia)

· The size of the debt can be increased rapidly and significantly via the valuation effect of a depreciation of the currency.  (The currency is subject to periods of rapid depreciation eg late 1990’s)

· Very high debt levels may lead to a downgrading of Australia’s credit rating and have some effect on domestic interest rates. 

· All three of the above reduce the independence of internal economic policy and may inhibit the government’s ability to pursue its growth objectives. (Eg late 1980’s/ early 1990’s)

· Foreign debt can contribute to chronic current account deficit problems. 

· Australia is an economy whose managers need to pay attention to the level of foreign debt.    

On the other hand……

· External debt may simply be a sign of a growing economy that cannot save enough to finance burgeoning investment. 

· Concern about debt needs to be tempered with consideration of who owes the funds and the purposes to which the funds have been put.  A high level of foreign debt, mainly attributable to a private sector investing in expansion of the productive potential of the nation, is not a crisis.  

________________________________________________________________________________
32.
Demonstrate and explain how a tightening of monetary policy might affect the:


(a)
 exchange rate







(6 marks)

· Briefly indicate the meaning of “tightening monetary policy”.

· Tend to appreciate the currency via its effect on foreign investment.

· Diagram and explanation of impact of higher foreign investment.


(b)
 inflation rate







(6 marks)

· Usually aimed at reducing inflation and likely to be successful.

· Explain the mechanism by which higher i/r reduce inflation

*
reduce aggregate demand and therefore the price level.  Demonstrate and explain using the AS/AD diagram.

*
the higher exchange rate will reduce inflation by directly lowering prices of some goods included in CPI and by reducing the price of imported inputs.

*
higher valued currency will reduce the net exports component of aggregate demand reinforcing the impact on domestic demand.


(c)
value of assets







(3 marks)

· Assets values will tend to fall. 

· Higher interest rates encourage funds into banks rather than shares so share prices tend to fall. Shares are an important component of assets.

· Higher interest rates will discourage expenditure on housing by increasing monthly payments and reducing the amount that people can borrow.  Reduced demand for housing will see prices fall or stabilise.  For most Australians the family home is the most significant asset.

· Other asset prices such as jewellery, paintings, coin collections etc will tend to stabilise in line with falls in inflation.

33.
(a)
Distinguish between federal government policies aimed at influencing aggregate

 demand and those that influence the supply side of the economy.

(9 marks)

· Define and give examples of the ‘demand side’ and ‘supply side’ of the economy.  Should list the components of AD and give examples of supply side issues. 

· Draw a diagram (or two or three.)  Expect and pay the Keynesian cross to show AD but the best diagram to use is the AS/AD model with flexible prices.

· Explain monetary and fiscal policy as demand side policies because they impact directly on the components of AD. 

· Distinguish between expansionary and contractionary policy settings and refer to objectives and targets.

· Good answers will indicate by use of a diagram that AD policies alone do not allow effective management of the economy.  The issues of stagflation may be mentioned here.

· Microeconomic policies should be explained as policies that impact on production costs, under performing sectors of the economy and the level of competition in the economy and therefore AS.

· Diagram AS/AD to demonstrate need for and effective use of MER.

· Good answers will mention the need for complementary use of both to achieve non-inflationary, sustainable, economic growth.


(b)
Describe the combination of these policies currently operating in Australia.

(6 marks)

· After a long period of growth stimulated by expansionary monetary policy concerns have arisen about overheating and inflationary pressures.

· As at June both MP and FP could both be classified as expansionary.  Even though interest rates are rising they are still at 30-year lows and unexpected events have created a small deficit in the budget.  If there are further cash rate increases then the stance of MP could be classified as contractionary and the government has insisted that the budget will return to surplus in the next financial year. 

· Reward students who know that i/r have been increased to restrain inflation even if they don’t make the distinction above.

· This indication that the policy stance may change is due to concerns that a decade of strong growth is producing some inflationary pressure.

· MER remains set on increasing competition and creating greater flexibility in the labour market. 

· Make reference to recent examples of MER such as talk of the further privatisation of Teslstra and labour market reforms.

END OF PAPER
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